H Iz B FICAEE T OHITETE {5
7 WL =R K O F b R T RF ALy a—r—A (IR)
L /Ai}:j‘ziti&&%’f&/fv—rﬁ—wﬁ%
9 ol E=hF2RA~6m) [H8+5-2—@
3 K| EATANI 2R UEIRET)  AEAEECE B O-1,3-2 |m=s-52-6
4 R |IMERFRER (6FR) FEAEDE SC 2:1-3
5 N 1, 3-0-2 [£8:5-2—®)
0 & 1, 3:2:0O E8:5-2—@
7 / %, f SERREASONR)  EREIA \EELY (R OCDRE
8 / ) REIGERE e ADEREOIE)
9 bEl 2:3-1 [F8:5:2—®
10 KRB TIRRY) RS 3-2-1 E8:5:2—@©@
11 K| N—T LG 1-3:2
12 WAERT (3F3-4FR) ARG (Y 2:3-1
13 I Y= N ol e 2:1-3
4 ) meskskacir o
¥ \I/
15 ¥/ e A I
L AED N e
16 %v—%w‘:ﬁm@@ﬁg BLEEREL o2 (HiER)
17 K 213
18 KO|EEREZEES SC 3-2-1
19 RELT4T
20 4 [IRERUEE 12« Y4
21 £ |kEs RERy TR B A RS
7z -
99 //Aé?ﬁﬁ%i&mﬁiﬁfﬁ* SR T T (7
23 7//@< SOR KBTI A
7 7
7, AR (9/2)
95 | Kk |BEEEG#H eEEEL FELmEES e [H8+5-2—@®
26 AR B S (HezR
21 | & s e s
L7,
8 | wmean
20 57 ermms
30 | BRI (4555125) 8-5-2—@




